Name: _________________________




Math 8

TRANSLATIONS

Problems 1 – 7, graph the pre-image and image. Create a table showing all vertices. Label all images using primes, unless it indicates otherwise.   
1. Rectangle ABCD with vertices A( 3, 4 ), B( 3, 6 ), C( - 2, 6 ), and 

D( - 2, 4 ), translated 6 units to the left and 1 up. (x,y) → (x – 6, y + 1 ).


Find the length of each of the sides.
What are the measures of 

                                                                    Each of the angles?  ______     

AB  =  _____

A’B’ = _____


BC = _____

B’C’ = _____


CD = _____

C’D’ = _____


AD = _____

A’D’ = _____


2. Triangle XYZ with vertices X( - 1, 2 ), Y( 2, 3 ), and Z( 3, - 1 ), translated 2 units to the left and 3 units down. (x,y) → (x – 2, y  -  3)

Identify all corresponding sides and all corresponding angles:
XY ≅  __________

angle X  ≅  __________ 

YZ  ≅  __________

angle Y  ≅  __________
XZ  ≅  __________

angle Z  ≅  __________
Is the image preserved? __________

3. Polygon KLMN with vertices K( - 1, 1 ), L( - 3, 0 ), M( - 2, - 3 ), and 

N( 0, - 2 ), translated 4 units to the right and 3 units up.                        (x,y) → ( x + 4, y + 3)

If the image is translated again 4 units to the right and 3 units up, where will L’’ be located? ____________

4. Triangle ABC with vertices A( - 1, 4 ), B( 0, 0), and C( 2, 3 ) translated 5 units to the right and 2 units down. (x,y) → ( x + 5, y – 2 )

Identify the corresponding side and corresponding angle.
BC ≅  __________


angle A   ≅  __________
Is the image preserved? ____________

5. Rectangle QRST with vertices Q( - 1, - 2 ), R( - 2, 1 ), S( 4, 3 ), and       T( 5, 0 ), translated 3 units to the left and 4 units up.                            (x,y) → ( x – 3, y + 4 ), Label the image BCDE.

Identify the corresponding side and corresponding angle.


RS  ≅  __________


angle T   ≅  __________
Is the image preserved? ____________

6. Polygon MNOP has vertices M( 0, 5 ), N( 2, 5 ), O( 7, 1 ), and P( 2, 1 ), translated 4 units to the left and 3 units up. (x,y) → ( x – 4, y + 3 )

If the image is translated again 4 units to the left and 3 units up, where will N” be located? ___________

7. Triangle ABC has vertices A( 2, 3 ), B( 6, 6 ), and C( 7,2 ), translated 6 units to the left and 1 unit up. (x,y) → ( x – 6, y + 1 )

If the image is translated 8 units to the left and 4 units up, where will A’’ be located? ______________

8. On the lines below, describe what has happened with the translation.

______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

  

                                                                           B
                                                                                                      C
                                                                       A
                                              B’         

                                                                        C’

                                        A’          

Part B: Explain why the triangles are congruent.
_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Problems 9 – 12, circle the correct choice. Use the scrap graph paper on the following page to help you answer the questions.

9.   If point J( 6, 8 ) is translated 4 units to the left and 9 units up, where would J’ be located?
A.   ( 10, 17 )



C.   ( 10, - 1 ) 
B.   ( 2, 17 )



D.   ( 2, - 1 )
10.   If point K( 3, - 7 ) is translated 5 units to the right and 6 units down, where would K’ be located?

A.   ( 8, - 13 )



C.   ( - 2, - 13 )

B.   ( 8, - 1 )



D.   ( - 2, - 1 )

11.   Translate point L( - 2, 10 ) using the rule (x,y) → ( x  +  7, y  +  5).
A. ( - 9, 5 )



C.   ( 5, 5 )
B. ( - 9, 15 )



D.   ( 5, 15 )
12.   Translate point M( - 9, - 12 ) using the rule (x,y) → ( x  -  3, y  -  6 ). 

A.   ( - 12, - 6 )



C.   ( - 12, - 18 )

B.   ( - 6, - 6 ) 



D.   ( - 6, - 18 )




